GROUP-I SERVICES, Notification No.27/2018

REVISED KEY

PAPER-I (GS/1G/100)

1. Vijnanesvara wrote Mitakshara at the court of the Chalukya emperor
Vikramaditya VI. It was

Law of primogeniture
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6. The First Round Table Conference was held at London in 1930 to discuss
Both Future Constitution in India and Dominion status of India
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10. Name the Rana of Mewar who employed Baksariya Muslims in his army :
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31. Choose the correct answer relating to the Supreme Court of India :

3 options are correct i.e : A Supreme Court Judge addresses his resignation
to the Chief Justice of India, All Civil and Judicial authorities in India shall
act in aid of the Supreme Court and The Supreme Court has the autonomy
to make rules for the practice and procedure of court.
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33.Estimates Committee related to which reform to ensure the efficiency of the
following 2

Financial Control reforms
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37.Regarding the Habeas Corpus, choose the wrong answer.

All options are correct
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38. Regarding the Directive Principle of State Policy, choose the wrong answer.
All options are correct
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43. Regarding the Article 15 of the Constitution of India, find the wrong answer.

Article 15 also permits the state to make any special provisions for SC,ST
and socially and economically backward classes of citizen
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44. Which of the following are not the federal features of the Indian Constitution.

Rigid Constitution
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45. What option does the government exercise and legislators have when they
do not like a decision made by the Supreme Court ¢
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51. A sitting of the Parliament can be terminated by adjournment, prorogation
or dissolution. In this regard choose the correct answer.

Both Answers: dissolution ends all business including bills and motions
before Lok Sabha and Adjournment sine die means terminating a
sitting for an indefinite period.
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59. Due to the existence of which article, the State cannot interfere and
dispossess a person’s property except in accordance with the procedure
established by law ¢
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73.According to the NSSO é8thround, what is the rate of unemployment in India
based on usual status unemployment method?
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74. In India, in which year was the “Special Economic Zone" policy announced ¢
Both 2000 and 2006
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81.During which period did India have continuous current account surplus ¢
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?0.Which district in Andhra Pradesh has the largest area under food crops ¢
West Godavari
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97. Consider the following two statements and choose the appropriate answer :

A. Gorges and Canyons represent
V- shaped valleys

B. Gorges are the extended forms of Canyons.

Statement A is correct and B is wrong.
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Statement A is correct and B is wrong.

99.Which of the following statement/s rightly explain/s about fropopause ¢
(i) Seasonal variation occurs in the height of tropopause.
(i) Itis the transition zone between froposphere and stratosphere.

(iii) It lies below the stratosphere

Statement ii & iii are correct and | is wrong.
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Statement ii & iii are correct and | is wrong.

117. Which of the following groups of countries is arranged in descending order
of area 2

Russia, Canada, U.S.A, China
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